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Limits at Non-breaking Points

2

x5 =

2) lim

=9 x—3

5) lim vx+2=

x—23

Holes in the Graph

8) lim

Trig. Functions (Holes)

(x— 7)(x+11) B
x—7 (x— 1)(x—7)

14) lim

x—0 X

17) lim

x—0

Radicals

20) lim x-3 =
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Piece-wise Functions

sx xea D) JmS= 29 fing9= ) fim ()
f(¥)=1{ 2041 —3sx<4  28) lim f(x)= 29) lim f(x)= 30) lim f(x)
X—> X—> X—>
9 xz4 31)  lim f(x)= 32) lim f(x)= 33) lim f(x)
x—-5 x—7" x—0
Is f(x) continuous or discontinuous at .....
34) x=-37 35) x=47?
Explain your reasoning : Explain your reasoning :
Asymptotes
36) lim ——= 37) lim — = 38) lim —— =
x=2" x—=2 x—=2" 2—Xx -8 Xx+8
39) lim X = 40) Tim — 5= 41) lim tanx=
x—-3" x+3 x—6 (X—6) x_>7r2+
42) lim 2t 43) lim X = 44) lim 25—
x—0" X x—0 X x—0 X
Limits that Approach Infinity
45) lim 2= - 46) lim T2 = 47) fim 272
x—eo 14x7 +1 X0 — X x—e0 X749
10
48) lim T2 49) Tim 2= 50) lim 2% _
xo—o Tx+1 x> x—3 xoe 11X +x
2 7x° +3 5x'" —3x
51) lim = 52) lim = 53) lim ———<=
: x> 5—X ) x—o 3x2 45 ) e 11x10 4+ x"
54) lim 5= 55) 1lim 247 _ 56) lim 24T

x—eo e 3.25 10 yome 3.25210



Find the vertical asymptotes and holes for each

3x—2 x*+2x—15 (x+2)(x=3)(x—4)
48 = 49 = = - 50 =
) f(x) 5—x ) f(x) x=3 ) f(x) (x+2)(x—4)(x+7)
vert.asym. hole vert.asym. hole vert.asym. hole
11x 8—x (2x+1)(x+3)
51 = 52 = 53 =
) f®) x(3x2+5) ) f) 8—x ) F) (x—4)(2x+1)
vert.asym. hole vert.asym. hole vert.asym. hole

Write an equation that meets the requirements
54) Holeat: x=-3 55) Hole at: (2,5) 56) vert.asym. : x=—4

vert.asym. : x=35 Hole at (—2, _—jj

1
57) lim f(x)== 58) lim f(x)=0 59) lim f(x)=3
x—0 2 x—>00 x—>00
vert. asym.: x = _—2 vert. asym. : x=-10 vert. asym. : x=-10

60) The figure to the right shows the graph of f. Which of the following statements are true?
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1. lim £(x)= £(6) »

A) 1II only B) III only C) TandII only D) ITandIIl only E) L II,and III
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61)  lim f(x)= 62) lim f(x)= 63) lim f(x)= 64) lim f(x)=
65) lim f(x)= 66) lim f(x)= 67)  lim f(x)= 68) lim f(x)=
69) xli)r{lmf(x)= 70)  lim (x)= 71) xli_>n_17f(x)= 72) xli_)n_12f(x)=
73) lim f(x)= 74)  lim f(x)= 75) lim f(x)= 76) lim f(x)=
77) xl_i)r_l; f(x)= 78) Lug f(x)= 79) l_l)r_ns f(x)= 80) Xlgg f(x)=

81) The graph is discontinuous at x =

Special Cases

2
- )
82) lim X"l 83) fim 372 _
-t x—1 -2t x=2




